BMOHE N R E

S5 64 5 A

HRA A E AR A R S

R TS5



L. WESEBS  SBABEE  EAHX CEEE

2. IRHR

4. L

5. #

4

P

i

8%

SRCALREWT B Bh #LE D X FRR

(H) B S A AR B M43 3R

(2) B S oy 2 5 o T

(B)
E)
(B)
E)
()
E)
()
(E)
THA TS
HER—U T 104. 5m
RPN 79[H]
A fLEAZE 9 A
TR
HHE VR AT 0.13km
HAER—V > THRT 104. 5m

B Af 6% 7H 100 ~ =

AN
RE)

Fn

T4

2H

4H ( 210HF)



7T ) R p-
WELSEB4 | E B EAMK LERE
™ & - 4 Boo- A H A7 & &  F L]
B M R A S
1 R A = 1 10, 089, 569
HER—V YV BIRLV TR ¢ 66 mm SEFS A—nNar)o s m 28
HER—V LV BE 6 66 mm REFH A—nAarTyrs m 49
MR —U T HlE ¢ 66 mm SHETSH A—nzarTV s m 27.5
YR AR HYE UV T ] 28
EHEE AR #U =] 51
FLNZK T Ay a5 5| 6
A FLEAZE (5B 9
EREE RS (H5S0. 3mlhT) T 1
S EE RS (15° ~30° ) [0 3
STIEIER AR (30° ~45° ) T AT 2
BB NN H 9
LSRR = 1
s R (FIRIRAZY) EV 1
N PR H 7
i J ON T A = 1
BhRH = 1 6, 749, 921
[E +HAR S T — % X — AR E = 1 18, 000
(= LR T — 2 X — 2R B 2 1
HITER - A2 ES 1 1, 300, 758
HEHVE A SEHIE MR 1.1, 000 km 0.13
AR — VU TR m 104.5
s HEHTAY = 1
HITER - EER =, 1 336, 712
Hifte2ess  #smty - A4 - wiAE = 1
Z DAt 5l = 1 700, 408
— RS = 1 1, 254, 632
o=l = 1 20, 450, 000




